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ZF 50l L
& i E % ouT IN st
1 B EF 35| 35] 70
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BF 54 mUT
JIE: {2 K % ouT IN €] HDCP  NET
1 EFIE & 40 45 85 15.6 69.4
2 6 3 40 44 84 14.4 69.6
3 BT 86 42 39 81 10.8 70.2
4 A /R 44 43 87 16.8 70.2
5 B B 43 44 87 16.8 70.2
$BF 55 ®~ 64 i
[:3 v K £ ouT I\ €] HDCP NET
1 =fE RIE 46 42 88 19.2 68.8
2 IS E& 39 41 80 8.4 71.6
3 K18 BEn 46 43 89 15.6 73.4
4 fgt 2 45 44 89 15.6 73.4
5 X0 Y6 48 46 94 20.4 73.6
BF65m~ 74 iR
[:3 v K % ouT IN GR HDCP  NET
1 UNR S 43 37 80 8.4 71.6
2 NESE 38 42 80 8.4 71.6
3 al BE 45 42 87 14.4 72.6
4 HE BX 41 40 81 8.4 72.6
5 PR ER 49 43 92 19.2 72.8
SF75mE
JIE: {2 K % ouT IN €] HDCP NET
1 s 46 55 101 28.8 72.2
2 AU FE 48 45 93 18.0 75.0
3 MR 5l 48 44 92 16.8 75.2
4 BN iefE 47 45 92 16.8 75.2
TF 49 mUT
[1: v K £ ouT IN €] HDCP NET
1 AR FF 45 44 89 19.2 69.8
2 WF =2 44 45 89 12.0 77.0
3 = NI R 46 46 92 13.2 78.8
4 WE X 59 59 118 31.2 86.8
TF S0mlE
[:3ivi K % ouT IN GR HDCP NET
1 10 BF 40 46 86 15.6 70.4
2 SN F 42 42 84 13.2 70.8
3 ZF FDH 40 42 82 10.8 71.2
4 RENS 40 44 84 12.0 72.0
5 st BULF 38 44 82 9.6 72.4




